Geometry H Name : Kel
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1. Aregular octagon has a radius of 11.5 inches. What is the length of its apothem? Round your
answer to the nearest tenth.
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2. Aregular decagon has a diameter of 35 meters. What is the length of its apothem? Round your
answer to the nearest tenth. » radw¢=11.5m
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Find the perimeter and area of the regular polygon. Round answers to the nearest tenth, if necessary.
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Decide whether the statement is always, sometimes, or never true. Eaun e = x2
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6. |If the number of sides of a regular polygon is n, then the measure of the central angle is 360°+ n.
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7. The radius of a regular polygon is greater than the apothem.
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8. The area of a regular hexagon of radius r is six times greater than the area of a regular triangle of | FG15¢ ,
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Find the surface area of the right prism. Round your answer to two decimal places. 1.3
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h=5 Find the surface area of the right cylinder. Round your answer to two decimal places.
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Solve for x given the surface area S of the right prism or cylinder. Round your answer to two decimal
places.
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18. Find the surface area of a right octagonal prism with all edges measuring 8 feet. Round your answers to
two decimal places.
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19. The surface area of a cylinder is 1000w square centimeters. The radius of the cylinder is four times the
height. What is the height of the cylinder?
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